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1 HBFTYU7Lvyva 4,000F3/ A 4[] 1,300M3/1[4]
2 $hIRmEER (3 -4 - 55) 4,000M/ A 4[] 1,300M3/1[=]
3 *y XZE—Y 4,000M/ A 4[] 1,300M3/1[=]
4 CaZTRE—Y 4,400F/ A 4] 1,400M3/1[=]
5 INERAE (AR 4,000/ B 4[g] 1,300M3/1[=]
6 SRRy PR—IL (1~3F4%) 4,400/ A 48] 1,400M3/1[=]
7 SNy RR—IL (4~6%FE4%) 4,400/ B 4[] 1,400M3/1[=]
8 hEENZT Y hR—L 7,600/ /B 4[] 2,200/3/1[g]
9 INFENL —R— L 4,400F3/ B 4[g] 1,400//1[H]
10 XA 5,600/ A 4[a] 1,700M3/1ME]
11 JUDOF v L v (4 - 58) 4,400M/ A 4[] 1,400/ /1[=]
12 JUDOF v L vy (N#1 - 284%) 4,400M/ A 41 1,400M3/1[=]
13 R—ILsS— 2 6,800M/ B 4[] 2,000/3/1[=]
14 YNANFRAR—=YTHTI— (bF~NFE) 6,400M/ B 4[] 2,500/3/1[=]
15 RLFRAR—=YTHTI— (PFE~—FK) 7,200M/ B 4[] 2,700/3/1[=]
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1 D7Lyya&yzA7 4,400/ A 4[g] 1,400 /1[g]
2 DU D UMEERIFIE 4,400F/ B 4[E] 1,400/ /18]
3 LET'ST 7 HH# 4 X 4,400/ B 4[a] 1,400 /1[g]
4 BEL7UIT— 3> 4,000/ A 4[g] 1,300 /1[H]
5 J4+—R—T=2R 5,600/ A 4[a] 1,700 /1]
6 AR r——T=X 5,600/ B 4[g] 1,700 /1[g]
7 ISR #—2—7T=X 5,600/ A 4[a] 1,700 /1]
8 Yb—Fv FRX ML YT 4,400M/ A 4[] 1,400 /1[g]
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